HEER| mwe: 11A178 (D RESA—F A b TORES, No.
F — L & 1 2 3 2 5 6 7 =T
ANGEEVILI4— 0 1 0 1 0 0 0 2
EHBFHEHMAY =TS 0 0 0 0 1 0 0 1
N YT CREF> | (=21 | <_EfD>
(%) B EE = 5% AL rL | RHE
(#)| Yy = Xki% L A L

2EIRICRIARIZEDT1 A ARKRICHELIZED 1 EE2E5FEITaND,
S5EE, 2FEHmEBNSMNERFHNUKE RV 1 RZIED, B{FroRIHEFOKFICEENS,
MR -REBIOKRELKEREF. BREFOEKEYVNTEI1, 28LL. 2EEET
WoT=AHhETARANHE T IZBRE Lo T-,

== TR | BT |8 |mEl = |7
KIEITE 1 2 3 4 5 6 7 wlitlmlslagl=|gl2
11 RB | (&) | =k EE | AR =R || 3 1 2
2 |WUKXR (=) [ =k -3 —3 BRiR| 4 | 1 1
3| B | ()| ER =ik =3 =R 4 2
4 | B&H | (1) ERIR mEk | £= 2 | 2 1
5 | REE | (=) AR FER | =3 3172
6 | EBIE | (or) =3 T _E 3
7| AK|[(=Z) . AO) o= —3 2 1 1
8| FXRI|(#) = (1 %) i3] 2 1
9 | mg | () =3 | mEd® =i || 2 1 1179
D=F| JIFT | (%) 1 1
RE F=L | (-) 1
R EB () 3K ‘
()
get[25[ 5[ 2214771
K 4 B ITE | TH# || ka | BE|#iE| SR| 5| E=| ZE| =8| XAE| RI%| BK
= H’%E}I 1/3] 4 3 1 0 0 0 1 0 0 0 0 0 0
é" & 62/3 28| 25| 5 1 0 0 3 0 9 0 0 0 0] O
ZSHBEEEH v : 9 3 4 5 6 7 T 2| &[T |8 [mEl =&
A=VGRH BT 2R [#IT|E|[R|E
1 |3k |(#)]| =& =AR P9 Bk —HRElf 3 2 [ 1 1
2 [ Ayb | () | Pk i) Bk ey (K 1
3 | ke | (=) | ER =i Bk =& || 4| 1 2
4 | Mg [ (=) | &R AR mER(D =A% 3 |1 1 1
51 &% | (=) =ik W -3 ERx | 4 1
6 | Uy | (or) LS =ik (=) 1 1 1
7|1 ®I|(%m) =R =R (%) 2 2
8| ML | (%) =SSES —3 | (@A) 2 |1
9 | kg | (®) =ik EED) FEE| 2 | 1 1
D=F| MBED | (&)
RIT| BA [ (=) =ik 1 1
T WA [ (=) #3 1
37| #8287 [ (H) =d 1
K$T HOA | ( -) =1R 1 1
(=)
git[28T 6 11 JOJ4]9]0
K % m#|iTE | TR |nen| km| BE|HE| 5m| 5K E=| ZE[ =2 | X2 | K& BK
. EED
'*‘g Ay 7 3] 25| 5 2 2 1 2 2 7 0 0 0 0| @




